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(a) K A (eigenvalue) & A #L & i (eigenvector) © (8%)

(b) K A ZRIEM - (5%)

(¢) K Az ¥ ficsEr: - (5%)

(d) Ke' 8 » (5%) A

(e) ()AL B A 2 AHE A () A B2 (5%)

2. —dhgr A FE 4T
x=3cost , y=3sint , t#-7w/2 & x /3, XKL 20K > (§%)

3. K, A=6i-3j+k , B=2i-5k ,C=5i-7/+3k
() KABmeBRAC HmEH2EA - (8%)

(b) #A+aB LC . Ala=2  (5%)

4, 45T )8 H8 % % B A Fourier series 89 7% =, o
f , - <x<0

(a) fQ)ZIn-# | (10%)

, O<x<m
(b) f()=lx . —m<x<x (8%)

R T S AR A2
(a) (x+)dx+Bx+3y=4)dy =0 o (5%) (b) y"=5y"+8y'~dy=¢"" * (5%)
(c) x'=3x+3y+e’, y'=3x+3y-2e ° (5%)

6. (a):¥ A Euler v K, ¢ =cosO+isind » (4%)
(b):X 3584 (cos @ +isind)" = cosnd +isinnd (De Moivre & ) « (4%)
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